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All questions are compulsory.

Question No. 1 to 4 are objective type, each question carry 5 marks.
Question No. 5 to 9, each question carry 2 marks and word limit is 30
words.

Question No. 10 to 17, each question carry 3 marks, and word limit is 75
words.

Question No. 18 to 21, each question carry 4 marks, and word limit is 120
words.

Question No. 22 and 23, each question carry 5 marks, and word limit is 150
words.




9.1

9.2

ﬁﬂ%ﬁaﬁﬁwﬁﬁéﬂﬁﬁmmwmﬁaﬂwﬁaﬁﬁaﬂm— (5X1=5)

(A) <iRerd! & TEwL.... B
(n‘ltﬁw trrsiﬂ/mw Trmrs' W}
1) N ¥ T B TAF ST bl AT fHA A B |
(gror fafey / e fafe)
(€) ﬁvﬁﬁwﬁ?ﬁmqﬂzﬁwmﬁ%ﬁnﬁﬁﬂaﬁhmﬁm
e BT R (¥ B WR/ I | FH)
(D) w9 fdge TUnid B .o | (%/ g—)
(E)  Po WafIT FRAT B TS BT G| (IR / TH)
Fill in the blanks -
(A) The Father of Statistics 1S.......covvvivirrinnniiiiie,

(Prof. Marshall/ Prof. Gottfried Achenwall)

(B) In vt each unit of universe is studied.
(Census Method/Sample Method)

(C) The sum of deviations of individual items of a series from arithmetic

MEAN 1S, . eeiireeiiaeinaens (Equal to zero/Less than zero)
(D) The formula of co-efficient of standard deviation is.......... (ic / %)
(E) Poshows price of.......cooveiiiiin. e, year. (base/current)
Ue v I A ¥ S - (5%1=5)

(A) E®i® A e G B oTE I[F AT SR 87
B) e &7, sefegaven & f &3 W Hafed 82

(C) T AR Fd A gorre

(D) Seured ¥ ufha ued F1 87

() erdrg arior dat A veno e ad gg?

Give Answer in one word or one sentence-

(A) Which formula is treated as Ideal formula in Index?
(B) To which sector of Economy, Banking Sector is associated?
(C) When was MGNREGA Act implemented?

(D) What is Active Factor in production?

(E) In which year Regional Rural Banks were constituted?
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93 el W) g8y- (5X1=5)
(A) TIRTs ol &g (a) W™
(B) IR—aiforias ol W (b) e arges
(C) Al sreferazen (c) Udd Sl
(D) wRa # faery anfds &= d) uplas i
% amR @2
(B) a7 g Wl diga (e) dm
Match the columns-
AP «“B
(A) Commercial Energy Sources (a) Pakistan
(B) Non-Commercial Energy (b) Chipko Movement
Sources
(C) Mixed Economy (¢) Wind Energy
(D) Country which became basis for (d) Natural Gas
Special Economic Zone in India.
(E) Movement to stop cutting of trees  (e) China
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U4 8l fdbou &1 guq Pifo-

(A) SareH fhar v 9T 28—

(a) 3 fbar o (b) or e fram @
(c) SoHfad forar &1 (d) ST A A BIs 80
(B) 3F¥RTHAl gRT W4 Gafora fhd T affeg Feam 2
() wafE wEE by fgdus a9®
(c) qla® HHE (d) (a)@ (b) <l
(C) 'R ®ifd & wd B—
(a) sfaxr @i (b) TH.UH. W@HERMA
(c) Q. IAFYH (d) ARRS <4
(D) IO FoTcHd By Wad Bl 8-
(a) -2 (b) —1
(c) 0 (d) +1
(E) ®AR ¥ # Aifd 3manT He fea gan—
(@) 1 STFa%I 2014 (b) 1 STHARY 2015
(c) 1 3BT 2015 (d) 1 SR 2016

Select the correct option-

(A) Production activity is a component of-

(a) Economic activity

(c) Political activity

(b) Non-Economic activity
(d) None of these

(B) The data collected by the investigator is called-

(a) Primary Data
(c) Tertiary Data

(b) Secondary Data
(d) Both (a) and (b)

(C) Father of Green Revolution is-

(a) Indira Gandhi
(¢) T. Balakrishnan

(b) M.S. Swaminathan
(d) Morarji Desai

(D) Perfect Negative Correlation is always-

(a) -2
(c) 0O

(b) -1
(d) +1

(E) When was NITI Aayog constituted in our country?

(a) [1Jan.2014
(c) 1 April 2015

(b) * I Jan. 2015
(d) 1 Jan. 2016

(5%1=5)
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.10

qiRkegan fafery ¥ @ar amey 27
What is the meaning of Statistics Methods?

. 3491/ OR
ik & iy <1 e foIlgd |
Write any two importance of Statistics.
mfe Sffdes A MUBT T AT 77
What do you _mcah by Primary Data?

3741 / OR

UeTael o7 3t JHEnsy |

Explain the meaning of Questionnaire.

JRARAT IR @7 8? AHsE |

What is Frequency Distribution? Explain.
Jgar/ OR

3itpel & aiffevor & arel ke |

Write the meaning of Classification of Data.
JreferaRer A IMUBT RN ATIY 27 AASEY |
What do you understand by Economy? Explain.

JFYar / OR
fedas &5 &1 @ 312f 27 wHsisd |
What is the meaning of Secondary Sector? Explain.
AN HdHH & B3 q1 I fealad |
Write any two objectives of MGNREGA Scheme.
3dr /OR
gRa § e & g eret @) foalkad | (@1 Q)
Write main causes of Poverty in India. (Any two)
ared fa@e @ 2? Aussd |
What is Mean Deviation? Explain.
3rrar / OR
fr=ifarRaa @ favar @ R qquie sna Hifs—
12, 15, 32, 25, 17, 36 |
Calculate Range and Co-efficient of Range from the following-
12,15, 32, 25, 17, 36
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911

¥.12

9.13

.14

U.15

.16

B BT HEed JUE DI |
Discuss the importance of Correlation.
JFgar/OR
AE—RE A DT T A 8° g9l o) faviward forRed |
What do you mean by Correlation? Write two characteristics of it.
qaHE B fAUNad W i | (@5 d9)
Discuss the characteristics of Index. (Any three)
Jgar/OR
fferRaa sifersl A 9AE 9] I YearHura sd diford—

Tl A B | C | D E

7 (2017 H) 30 70 45 | 6 | 3
L Aafore®) | 45 | 140 | 45 | 12 | 15
Calculate Price Relatives from the following data of each commodity-
[ Commodities A B C D E

Price (in 2017) 30 70 45 6 3

Price (in 2018) 45 14() 45 12 15
g Yot g Hifas Ioft & @ amer 7
What is meant by Human Capital and Physical Capital?

Jar/ OR

adrg Yot fafor &1 e e | wgc we Ry |

Discuss the importance of Human Capital formation in Economic
Development.
T e W 91 AN 77 39D P& Yo T 87
What is the meaning of Rural Development? What are its main issues?
Jgar/OR
HY fRAgo eraven § YUR T WHR TR DI WE DI |
Discuss the government measures to improve Agriculture Marketing System. .
toaRes e den sFaRG &5 &1 3ef W Hifow |
Explain the meaning of Formal Sector and Informal Sector.
Fgar/ OR
HRA H W R a3 & Iul B GHsd | (B8 )
Explain the measures to Eradicate Unemployment in India. (Any three)
ITTRS WEAT B Hewd W P |

Discuss the Significance of Infrastructure.
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U7

9.18

9.19

JYdqi /OR

Fot & R-WRET Sd P-dH | 87 5 v @ e fawor

ST |

What are the Non-Conventional Sources of Energy? Give the brief details of
any one.

AR referaen Y o8 &4 faeward folked |

Write any three characteristics of Indian Economy.

Jerar/OR
1958 § URY &) TS B9 @ U 1Y GRS AMGHE B AR DI |
Explain the “Great Leap Forward” Campaign of China initiated in 1958.
gvs fom &1 ame ve faRivard forfem |
Write the meaning and features of Bar-Diagram.

Juar/OR _
ferfafaa aiferat g1 SorT RUI & 3muR W 94IRA H 1971-80 AT
2001—10 @) TH-3X T F—I TFHC B TE 2| g9 Afbel @ agell
TUE AN & ®U H HT he—

qy 1971—80 1981-90 1991—2000 2001—10
e (B9TR #) 46 45 40 42
TEX (B9IR H) | 36 31 27 23

The following table shows birth and death rate in India according to the
census reports between 1971-80 to 2001-10. Present the data in the form of

multiple Bar-Diagram-

Year 1971-80 198190 | 1991-2000 [ 2001-10
Birth-rate (in thousand) 46 45 40 42
Death-rate (in thousand) 27 23
mﬁuwﬁwm%ammwﬁaﬁwmﬁl
Discuss the meaning and merits of Median.
erar/ OR
freifhe fAdRoT BT AHIRR AT ST BIfoTd—
| 3i® 0-10 10-20 | 20-30 | 30—40 | 4050
| BT B 15 18 30 22 15

Calculate arithmetic mean from the following distribution-

Marks 0-10 10-20 20-30 30-40 40-50
No. of students 15 18 30 22 15
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Y20 fadens /Gamie | e ar al @l i |

Write the advantages of Index number.

4.21

9.22

9.23

Jgar/OR
ﬁwﬁv]@ﬁmﬁzmgmrﬂ%ﬁ‘mmﬁﬁﬁﬁ(ﬁﬁnﬁﬂﬁ@m)
. qE B AR (2013_) | ad (2019)

' @ CIEl v N
A 5 60 6 100
B 4 30 5 50
C 3 40 3 60
D 2 20 3 40

Construct Price Index Number of the following data by using Laspeyres

Method- '

|[ Items Base Year (2018) [ Current Y-é—air_'“['?.{]]‘J}

| . -

i Price Quantity Price j Quantity

! A 5 60 6 100

=1 B 4 30 5 50

1' C 3 40 3 60

20 3 40

|
Wm%mmmﬁmuﬁ@m

Describe the causes of Environmental Degradation. (Any Four)

ikl

TR B B AR T B R |

Write any four functions of Environment.

OR

IgeTd T &7 ! O B vga At @1 e A Wy |

What is Mode? Explain the methods for its calculation in brief.

ggar/OR
fermferRRaa faawor 1 mfegaT e @1 giRwoTT aﬁﬁﬁ—
10 11 | 12 13 14 15 16 17 18
aan%r 1 9 | 26 59 72 52 29 | 7 1
Calculate the Median value from the following distribution-
ltems lu |1 2 [ 3] 14 15 16 17 18
_Frequency 26 | 59 72 29 7 I

IR H ﬁsamﬁm aﬁ URT &R aTel HCHI zﬁ forfea |

Write the factors fostering Globalisation in India.
3erar/OR

R § Froffexe & War) A &1 Jeoie BIfo |

Describe Government Policy of Privatisation in India.
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